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QUESTION 1

If Secure Sockets Layer is a requirement, which of the following parameters must be set to encrypt data in transit? 

A. Set the DB2COMM registry variable to DB2COMM=SSL 

B. Set the DB2COMM registry variable to DB2COMM=SSL, TCPIP 

C. Set the AUTHENTICATION configuration parameter to DATA_ENCRYPT 

D. Set the AUTHENTICATION configuration parameter to SERVER_ENCRYPT 

Correct Answer: B 

 

QUESTION 2

The DBA has observed that queries executed against SALES table have poor performance. SALES is a compressed
table and recently there have been a lot of rows inserted and modified in that table. The DBA has detected that lower
performance may be the result of sub-optimal compression dictionary for that table. 

Which of the following commands should be used to resolve the problem without preventing users from changing data in
the SALES table 

A. REORG TABLE sales INPLACE RESETDICTIONARY 

B. REORG TABLE sales INPLACE REBUILDDICTIONARY 

C. REORG TABLE sales ALLOW WRITE ACCESS RESETDICTIONARY 

D. REORG TABLE sales ALLOW WRITE ACCESS REBUILDDICTIONARY 

Correct Answer: C 

 

QUESTION 3

Which statement about the db2move command is TRUE? 

A. The LOAD actions can be run from a client machine. 

B. Object ownership cannot be changed after a successful schema copy operation. 

C. Tables containing GENERATED ALWAYS identity columns can be imported or loaded. 

D. Loading data into tables containing XML columns is only supported for the LOAD actions. 

Correct Answer: D 

 

QUESTION 4
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What levels of authority are needed to create a storage group? (Choose two.) 

A. DBADM 

B. SYSADM 

C. SQLADM 

D. SYSCTRL 

E. SYSMAINT 

Correct Answer: BD 

 

QUESTION 5

Given the following: What will be the result of the following SQL statement? 

INSERT INTO v3 (col1) values (30); 

A. The insert will succeed as it passes validation. 

B. The insert will succeed as there is no WITH CHECK OPTION on view V3. 

C. The insert will result in an error as it violates the WITH CHECK OPTION on view V2. 

D. The insert will succeed as the default WITH CHECK OPTION is LOCAL on view V2. 

Correct Answer: C 
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